Calculating GPA

Grade Scales:  A = 4.0 B = 3.0  C = 2.0  D = 1.0  F = 0.0  P = Pass  I = Incomplete

Pass credits are not figured into the GPA.  The student will receive credits for the class on their transcripts, but the credits must not be used in calculating GPA.  So the program would allow for the credits to added into the total credits earned, but the Pass grade would prevent the credits from being added into the total for purposes of calculating GPA.

Incompletes would not be figured into the GPA at all.  Students would not receive credit or grade points for an Incomplete grade.

Some schools use ¼ credits where grades are calculated 4 X a year.   A quarter credit is worth .25 credits

Most Arizona high schools use ½ credits which are calculated 2 X a year.  A half credit is worth .5 credits.

Some out of state schools have trimesters where grades are calculated 3 X a year.  A trimester credit is worth .333(continuous 3) credits, so that when all three are added together they equal 1.0 credit.

An example of a formula for calculating credits, so that GPA is accurate is:




Class

Credits

Grade

Points

Trimester Credits
Math 


.333333

3.0

.999999




Science

.333333

2.0

.666666




English

.333333

4.0

1.33333




PE

.333333

1.0

.333333




Aide

.333333

P




Soc Stud

.333333

0

0______             



Earned cdts
1.999999


3.333328






-.333333

P




GPA cdts
1.66666

Quarter Credits

Math

.25

3.0

.75




Science

.25

2.0

.5




English

.25

4.0

1.0




PE

.25

1.0

.25




Soc Stud

.25

0

0


 


Total

1.25



2.5

Half Credits

Math

.5

3.0

1.5




Science

.5

2.0

1.0




English

.5

4.0

2.0




PE

.5

1.0

.5




Art



I




Soc Stud

.5

0

0_______




Total          
2.5



5.0

GPA is then figured by dividing total points by total credits.

Trimester Example:  3.333328 / 1.66666 = 2.00 GPA

Quarter Example:      2.5 / 1.25 = 2.00 GPA

Half Example:           5 / 2.5 = 2.00 GPA

Now add the total points from each example and divide by the total credits:

3.333328 + 2.5 + 5    = 10.833328

1.66666 + 1.25 + 2.5 = 5.41666

10.833328 / 5.41666 = 2.00

Adding the Pass credit back in would give the student 11.17 total credits.

